COMPOUND ANGLES, MULTIPLE
ANGLES, SUB MULTIPLES ANGLES AND
TRANSFORMATION FORMULAE

1m 2m 3m | 4m | Sm | 6m | Total
I(K)|2(S+A) | = | = |UK)| = | 10

1 MARK QUESTIONS

(Knowledge)
Find the value of sin 75°.
Find the value of cos75°.
Find the value of sin 15°.
Find the value of cos 15°.
Find the value of sin 105°.
Find the value of cos 105°.
Find the value of tan 75°.
Find the value of tan 15°.
Find the value of tan 105°.

NS AR

1
Ifsin 0 = 5 than find sin 20 [0 is <90°]

_
e

11. If cosA= , than find cos 2A.

M‘ﬁ‘

12. Iftan x = n , than find sin 2x.

J3

13. Ifsin B = L, than find tan 26.

2
14. Find the value of 3 sin 10°—4 sin® 10°
15. Find value y : 4 cos® 30°—3 cos 30°.
16. Express each the following as product of 2 trigono metric ratio.
sin 50 + sin 0.
17. sin 40 + sin 36.
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18.
19.

cos 4A + cos 2A.
cos 10° — cos 50°.

Express each of the following as the sum or difference of two trigonometric function.

20.
21.
22.

23.

sin 5x cos 3x.
cos 4A sin 2A.
2cos 70° cos 10°.

o2)l2

Express as a sum of or difference of 2 different trigonometric ratio

24.
25.
26.
27.
28.

2 sin A. sin 3A.

2 cos A. cos 5A.

find the value of 4 cos®*10° — 3 cos10°.
2cos4x. sinx

2sin3x. cosx

2 MARKS QUESTIONS

(Skill and Application)

4 5
. If sinA= — and sin B= I (A, B <90°), find sin (A + B) and cos (A — B).

5

4 5
Ifsin A= 5 and sin B = I find tan (A + B) and tan (A — B).

1
Iftan A= ) and tan (A—-B) = % find tan B.

If A+ B =45° show that (1 +tan A) (1 + tan B) = 2.

c0s2A 3 sin2A
seCcA  cosecA

Show that : cos(£+ A).cos(E - A) - sin(£+ A).sin(E - A) = —l
3 3 3 3 2

Show that cot26 + tan6 = cosec26.

Show that cos3A

1 2
Iftan A= 3’ tan B = 7 then find cot (A — B).
Show that tan (45° + A) = 22
. Show that tan ( )_l—tanA

98



BASIC MATHEMATICS

l-tan A
1+tan A
. IfA+B+C=180° tan A =1, tan B = 2 show that tan C = 3.

. Show that tan (45°—A) =

: 5 4 (m It} .

. IfsinA= 13 08 B= 73 (5<A<”) and (7’<B<7). Find cos (A — B).
. Show that tan (45° + A) tan (45°—A) = 1.

. Show that sin (A + B). sin (A — B) = sin?A — sin’B.

. Show that tan 75° + cot75° = 4.

1
. Show that sin 105° + cos 105° = ﬁ

. Show that sec 15° + cosec 15° = 2./6

5 24
. IfcosA= —,cos B= g,(A,B<90°)ﬁnd sin (A — B).

13
. 7 —12 o o
. IfsinA= 55 cos B= 3(90 <A <180°) and (180° < B <270°) find tan (A + B).

1 1
. Iftan A= 5 and tan B = 3 find tan (A + B).

5 1
. Iftan A= g,tan (A + B) =1 show that tan B = TR

cos2A N sin2A
secA  cosecA

. Prove that

. Prove that sin(45°+A)+cos(45°+A) = J2cosA

. Prove that COS(E-FA).COS(E—A)—Sin(£+A).Sin(£—A)=l
6 6 6 6 2

sin(A + B)
cosAcosB

. Prove that =tan A + tan B

. Show that cos(120° + A) + cos (120°—A) =—cos A.
. Show that tan15° + cot15°=4.

2tan A

. Prove that sin 2A = m
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29. Prove that cos2A = 2cos’A — 1.

l1—tan’* A
l+tan* A
31. Prove that cos2A = 1 — 2 sin®A.

30. Prove that cos2A =

2tan A

32. Prove that tan2A = m

1 1
33. If 2 cos 6 = (?H';) show that 2 c0s20 = x° +?

34. Prove that cos40 — sin46 = cos26.

1-cos2A
35. Prove that ——————=tanA
sin 2A

36. Prove that (sin A + cos A)* =1 + sin 2A.

37 p n sin A +sin2A —tan A
- prove that 1+cosA +cos2A

1
38. Ifsin6 = ﬁ find tan 20.

30. Prove that SIAATSINZA _ 4 3A—cotA
- rrove tha sin4A —sin2A

COos2y —cos2x tan(x 3 )
40. Prove that Sin2x+sin2v 2 y

Al P that c0os75°+cos15°
F TOVe At 750 sin15°

5 MARKS QUESTIONS

(Knowledge)
1. Prove that cos A + cos (120° + A) + cos (120°— A) = 0.

2 Iftan A= —— and tan B = —— show that o+ f="
. an =il and tan —2n+lsow a 4
3. Prove that tan A. tan 3A. tan 4A =tan 4 A —tan 3A —tan A.
in(A—-B

sin )_0

4. Show that z 05 AcosB
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10.

11.

12.

13.

14.

15.

16.

17.

18.

20.

21.

22.

23.
24.

BASIC MATHEMATICS
Prove that sin 3A = 3sinA — 4sin’A.
Prove that cos3A = 4cos’A — 3 cos A.

3tan A —tan’ A

Prove that tan3A = >
1-3tan" A

sin360

. Prove that —————— = sinO and hece deduce the value of sin 15°.

1+ 2co0s20

1—cos2A +sin2A

- =tanA
1+ cos2A +sin2A

Prove that

cotA + tan A _
cotA —cot3A tanA —tan3A

Prove that

1+ tan’ (45°-0)

— == 20
1-tan’ (45°-0) cosee

Show that

sin3A  cos3A )

sinA  cosA

1+cos2A +sin2A
1—cos2A +sin2A

Prove that

cotA

Prove that

1 1 4
If tanor=—, tan f§ = ~ Prove that tan (200 + ) = "

Prove that cos 130° + cos 110° + cos10° = 0.

sin5A +sin4A +sin2A +sin A

= tan3A
Prove that coS5A +cos4A +cos2A + cos A

Prove that sin20°. sin40°. sin60°. sin80° = E

3
Prove that c0s20°. cos40°. cos60°. cos80° = E

cos7x+cos3x—cos5x—cosx
=cot2x

Prove that —; : ; ;
sin 7x —sin3x —sin 5x + sin

sin6A +sin2A +2sin4A  sin4A

sin7A +sin3A +2sin5A  sinS5A

Prove that in any AABC sin 2A + sin2B + sin 2C = 4 sin A. sin B. sin C.

If A+ B+ C = mr, prove that sin 2A + sin 2B —sin 2C =4 cos A. cos B. sin C.

In any AABC, show that cos 2A + cos 2B + cos 2C =—1 —4 cos A cos B. cos C.

seskeskok

Prove that
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